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1+ 26vvxX —NuX = 2NUXcLVX <> 1 +26VVX —NuX —2nuxovvx =0 <
< 1+ 20vvx —npx (1+200vx) = 0 < (1+200vx ) (1 -npx ) =0 <
<1+ 200vx =0 N 1-Mqux=0&

i
<:>201)vx:—1:>cmvx:—%<:> :>11HX=1=>11HX=11H§:>

<:>00vx=cnv(n—£j<:>cmvx=cmv2—n<:> I P P
3 3 :>x:21<n+5 n X:2Kn+n—§:21<n+§,

<:>X=2Kn+2—nﬁx=21<n—2—n ,KeZ KeZ

ANuX - GLVX — 2NPX — 26LVX +1=0= 2npx (2cVvX —1) - 2cVVX +1=0=

= (20vvx-1)(2nux-1)=0=

2cvvx—-1=0 1 2nux-1=0
= 2cvvx =1 = nux =1
:>('51)VX—l = X—l

T i
:>GUVX=GUV§ :>nux=nug
:>X=2K7Ei%,KEZ :>x=2mc+g

1
X=21<7t+%c , KeEZ

oPX - GLVX +1=GLVX + CPX = GPX - GLVX +1—cLVX—cEX =0 =
= opx(ovvX —1)+1-cvvx =0 = (cvvx—1)(cpx-1)=0=

= ovvXx-1=0 ] =opx—-1=0
= ovvx =1 =opx=1
= ovvX =cvvl

:>c5(pX:c5(pE
=>X=2kn , KeZ 4

amoppintetot ylatinoex ~x=xn+ X L KeZ
devopiletaryia 4

X=xm, K€



NUX +ePX =1+NpX-epX = NUX +ePX —1-nux-epX =0=

= nux(1-eex)+epx —1=0= (1-gpx)(nux-1)=0=

epx =1 ] =>nux=1

T T
= EPX =€EQ— = NuUX=nu—_—

4 2

o T
:>x:1<n+z,1<ez :>X=2KTC+E,KEZ

amoppinteTal ylati neex

devopiletaryia

X:2Kn+g , KeZ

16.15 5)

oLVX —26LV*X —oLVX + 2 = 0 = GLUV’X —GLVX —20LV X +2 =0 =

= GUVX(GUVZX —1) — Z(GUV2X —1) =0= (GUVZX —1)(GUVX — 2) =0=

= (ovvx -1)(cvvx +1)(cvvx—-2)=0=

= cuv’x =1 ] cuvx =-1 M =ovvx=2
= ovvx =1 => CLVX = GLVT = addvorn
= ovvX =cvv0 = X=2kntT

= X =2Kn

Yvvoyilovtog Tig Tapamdve AVGELG Exovpe X =KT , KeZ



